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Guaranteed Specifications®
{From -55°C to + BS"C)

Frequency Range ) J0-3000 MHE
Insmriion Loss A0 100 Mz 1.2 dBE Max
Less coupling) 10201 500 MWiHZ 1.5 dB Mas
1500 2000 MHz 2.5 dB Max
Ieolathan 30100 MHz 25 dB Min
1050 1 S0 Moz 20 dB Min
i 1500- 3000 MHz 20 dB Min
Ampliude Balance J0-I000 MHE 0.4 dB Max
VEWHR 30-100 MHz 181 Max
10501 50Kk KHE 160 Max
) 1500-3000 MH: 251 Max
Phase Unbalance 30100 MHz 1% M
1 CE0-1 S0 MWHLEz 757 Max
1 S0 BEHHD BH 15= Max
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Functional Diagram
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Typical Performance
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I nstruction Sheet

Shown below isthe table that is on the actual balun. The table explains how the port signal phases relate to one
another. Note that port D isthe port that is not labeled. It islocated above on the balun.

Example 1:

A single ended output signal isto be derived from adifferential input signal. The inputswill be ports'C' and 'D".
'‘C' will bethe ' INPUT" and 'D’ will bethe INPUT NOT" port. The single ended output will be port 'A’. The
table on the balun shows that port ‘D' will shift the INPUT NOT" signal phase 180 degrees. Port 'C' shiftsthe
signal 0 degrees. Thisresultsin two inphase signals which are combined and output as a single ended signal at
port ‘A". The unused port 'B* should be terminated in 50 Q (Termination Cap MaCom P/N: 2001-6500-00).

Example 2:

Differential output signals are needed from a single ended input signal.

Port ‘A" will be the ' INPUT' port. The table on the balun indicates that the signal at port 'C' will be O degrees out
of phase with the input signal. Port 'C' will be the ' OUTPUT" port. The table indicates that port ‘D' will be 180
degrees out of phase with the input port. Port 'D' will be the"OUTPUT NOT' port. The unused port ‘B’ should
be terminated in 50 Q.



